
Bear's picnic

This task is about completing word equations about amounts of food.

Papa bear           Goldilocks           Baby bear           Mama bear
 
On a picnic in the forest Goldilocks and the three bears each had a bowl of porridge.
 

 
Select the correct word to complete each sentence.

a)  The amount of porridge in:

  i)   Papa bear's bowl is equal to| less than| greater than baby bear's bowl. 

  ii)  Baby bear's bowl is equal to| less than| greater than Goldilocks' bowl. 

  iii) Mama bear's bowl is equal to| less than| greater than Goldilocks' bowl.

b)  The total amount of porridge in:

  i)   Mama and Baby bear's bowls is equal to| less than| greater than Papa bear's bowl.

  ii)  Goldilocks' and Mama bear's bowls is equal to| less than| greater than Papa bear's bowl.
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